2A:

NIAHE S 2t

33 FUNEE AARDIE 2=
Cel: SLENAHSIEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NIAIB &2t 3,785,331 2,090,920 1,694,411
= 45,697
= 3,739,634
FUHEE MAz=DE 2= 366,980 432,855 165,875
St N RIEN 366,980 432,855 A\B5,875
ENN MR SIONM[) 300,300 349,300 249,000
201 =3 90,800 109,800 19,000
01 At22t2l] 45,800 64,800 219,000
O=HN17 2A=0| SHA=
3,000,000 14| 3,000
O=2Al Y2 Sh+-d S
25,000,000 * 14 25,000
O=HuUF N2= 2,000,000 %14 2,000
O=Mus 2242 H&E & =57
12,000,000 * 14| 12,000
ONAS NS A=
1,800,000 %14 1,800
OMNRES 7Y 2,000,000& %14 2,000
02 S3=gHl 5,000 5,000 0
OAlZ= =He NE)ls 26
5,000,000 * 14 5,000
03 A= &I 40,000 40,000 0
O=MNuT =2AHA 24
7,500,000 *42] 30,000
O=Huz =AM 29
10,000,000% 14 10,000
202 04| 124,500 124,500
01 =LHOLI 4,500 4,500
O=Hus =& 4,500
03 =0 120,000 120,000 0
O=HusER =4 120,000
oREA(SY S)
6,000,000& x5 22| 60,000
oOlAIOHE(HIEE .82 &)
3,000,000 x5 *43] 60,000
203 HR=H] 1,000 1,000
03 A=A =] 1,000 1,000
OZR0&=E & HNHR SN
1,000,000& =14 1,000
301 LEetE N = 64,000 94,000 30,000
08 212+91=2|044| 24,000 24,000 0
O=Huz 2120l =2/0{H
3,000,000 +82] 24,000
09 2IeI=& 0| 40,000 70,000 230,000
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Hu: FOIMAE NHEIIE 2E

Cel: SLENAHSIEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=H&HAL 2/EI=H 0|
500,000 *10Z 84 = Al 40,000
308 AHXIEMSOIE 20,000 20,000
18 SIS0t AS A 20,000 20,000
OSYWEE YA 9= 2 0BIE XX
20,000,000 * 14! 20,000
DEAE JIRH 2 (KA 66,680 83,555 116,875
201 2= 46,680 66,680 /20,000
01 At22telt] 46,680 66,680 /20,000
OSRE ST FaaY
70,0002 +4%+33] 840
OJ12284991AS HASY
70,0002 x6E *23] 840
OLEAEIISH S 7
30,0002 %1,000& 30,000
OUEANZIIRH 222 7Y
10,000,000 » 14 10,000
OIEMNEIIZH S XI&
5,0002%1,000& 5,000
308 AtXIEMSOIE 20,000 11,875 8,125
13 S [2S0He & EAS A 20,000 11,875 8,125
OLEANZIIRN S2(2S, 221 8)
20,000,000& *14{ 20,000
SEH - A2 Z2RE Y= 1,609,000 28,000 1,581,000
A & MHESE E= 5,000 22,500 A 17,500
HSHZ2ME (XHA) 5,000 9,500 4,500
201 ger= 3| 2,000 6,000 24,000
01 AtR2tc|HI 2,000 6,000 24,000
OHIZHE ot HAZ I
25,0002 +80F*12] 2,000
202 04l 3,000 3,500 A500
01 2LHoIH 3,000 3,500 2500
OHSHEZHE HIFA 3,000
SEANY R ZZRE FX 1,604,000 5,500 1,598,500
D2 EAY (XA 4,000 5,500 21,500
201 er23| 1,500 3,000 21,500
01 AtR2te|HI 1,500 3,000 1,500
OHSFEZHE HOH FH Itz Ol
30,0002 502 1,500
202 04| 2,500 2,500
01 =LHOLI 2,500 2,500
OHSHEIZHE HIFA 2,500
SN REE M2 W& (RHA) 1,600,000 1,600,000
401 Al HIZL 201 1,600,000 1,600,000
01 Al&H| 1,594,240 1,594,240
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M MM - AR Z2HE 232
SI9l: MAMY 9 DRME F3 (crel: g)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OSURNHAXRER U2 L
1,594,240,000& * 14| 1,594,240
03 Al CHHI 5,760 0 5,760
O XIRER MUYE2Z L
1,600,000,000& *0. 36% 5,760
BPNI=F=ra =] 1,773,951 1,610,665 163,286
& 45,697
= 1,728,254
B0l Tet2x 373,000 266,000 107,000
HBSIAIAE DS SHAHA) 200,000 117,000 83,000
201 L2 | 200,000 0 200,000
02 32| 200,000 0 200,000
OBEALE 2etRE HEAIY
200,000,000 14 200,000
HEo|=EE D8t (XHAD) 173,000 149,000 24,000
405 KHHE S| 173,000 149,000 24,000
01 ML SEFHSHI 173,000 149,000 24,000
O=EZRE 6 72
1,250,000 *112CH 140,000
OZ3YRE 2LIH 7L
250, 0002 »60CH 15,000
OZEYRE Zgiy 7
400,000 x25CH 10,000
02728 L=
1,600,000 *5CH 8,000
dE32Zg el 879,887 1,227,010 A347,123
SHESAAHSTZSAI (XHA) 42,900 42,900 0
301 LPBENZ 42,900 0 42,900
14 J|EI2 A3 42,900 0 42,900
OFLFESUE 2AE
40,0002 *BOAI 2+ 123 38,400
O0S0Is U= 2AE
45,0002 *10Al 2+ 102] 4,500
2L X2 (KHA) 836,987 1,184,110 A347,123
201 Let23| 666, 160 958,140 A291,980
01 ArR2eltl 625,710 231,100 3%4,610
O3 EES 2AME
1,000,000& *13] 1,000
ONeIdEEES 2[ESH M
500,000 *13] 500
O3R3 F2su=s A
50,0003 *50 Al 2+x23] 5,000
O33R E25tW=s ull ME
10,0002 x150% 1,500
OB E3AY HIOKRIA =Y
250,000 4 H +33] 3,000
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NIl 3t ererat
Hu: (NS
thel: d2st2d2e] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFSSAIY DY 4o
250,000 522 x43] 2,000
0%IYLE 5/ 7Y 122,210
ONS-GAS 260, 00021 x220 57,200
oBtHRIA B2 10,0002 x2502 27,500
OPC Bl 290002157002 20,300
oWindow AftH BHAl 4400002 x5=2 2,200
oLinux M BHAl 710,000&*12 710
OEPP il 5,00024+7002 3,500
oYEX 19,0002 x2002 3.800
ORPA 2HOI¢I A 7,000,00024%14] 7,000
OBITATH| S8 RN =24
230,000, 00024+141 230,000
OFEAAY SYUE R4
155,000, 00024+ 14] 155,000
OBZTEAAY RN 24
50,000,000 %14] 50,000
042 EHOIXN RX24
22,000,00024+14] 22,000
OS2 SHOIX BE24 oI5 A
3,000,002 14} 3,000
OFPA SXI24 2,000,002 14} 2,000
ONABBES B2|4F 2A4Y
18,000, 00021%14] 18,000
OLAE 9OI0I0 PY
250,00024 144 3,500
OSIHHVZA BhEf2l DA
6.000,0002!%14] 6.000
OL-E= bHEl2l 7Y 00,0002 104 1,000
2 222 40,450 727,040 686,590
OSHOIX ZHQ A84+4E
250,0002!+13] 250
OSHOIN AYAIE 242
00,0002 128 1,200
OADIESN BE3 SM83
2,000,002 128 24,000
OHUBSEHALD HhaI R 2 5
15,000,00021+14] 15,000
202 01| 5,000 29,320 £24,320
01 K01t 5,000 4,320 680
DEEEERSEESS 5,000
308 XHXIEHHI SOI 165,827 196,650 £30,823
13 2| 2HSOICH 3+ ARSI ELAL I 165.827 61,650 4,177
OAZR BEIIP & W=D RK=
98,550,000/ x14] 98,550
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3 EIXI%E&—T@J
=°el: E2siEg2el (Gt H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OAZ T BEFBAAE HHIAOAT 29
7,250,000 *14] 7,250
O2LIctAIAE R
60,027,000 * 14! 60,027
CIOIE D18t HZREBH XA 401,500 0 401,500
23001 He & & ol=2-sHAHA) 69,000 0 69,000
201 2= 47,000 0 47,000
01 AtR2t2lt] 26,000 0 26,000
OAl 1T ZA=E 2,000,000& *12] 2,000
OUI0IE S edat s 2Ate=E
1,000,000 %14 1,000
OUioIeHEda S 223 &
1,000,000& *14] 1,000
OSS00IE SEdY A8
22,000,000 * 14| 22,000
2 35234l 21,000 0 21,000
OOPEN Al 01B & 500,000 * 122 6,000
OXGEPT 0I1=2= 750,0003 *20H 15,000
207 ARl 22,000 22,000
02 MAHHEHH] 22,000 22,000
OAl D18t HR2kA3E MHIA Y
22,000,000 * 14! 22,000
CIOIE DIt E EESHAIA) 332,500 0 332,500
201 er23 | 297,500 297,500
01 At2teltl 297,500 297,500
OLINE 232 SNz U SAAI
7,500,000 *14] 297,500
308 AtAIEMSOIE 35,000 35,000
07 HXHH 2R 52 35,000 35,000
OL2tH0Ie SS70 fE=
35,000,000 * 14! 35,000
SHANEIA MBS 119,564 117,655 1,909
= 45,697
= 73,867
SH2E 2l (XHA) 37,400 34,400 3,000
201 Ler23| 34,400 34,400 0
01 AlR 21| 34,400 34,400 0
OSHZEA 22849 U o2 S0l
60,0002 x5 582 2,400
OSHHEE 22t 10,000,000& * 14! 10,000
oI+ M= 22,000,000 * 14! 22,000
405 AHAHE S 3,000 3,000
01 AL =S F = 3,000 3,000
OSH&ad ooz 2L
3,000,000 *1CH 3,000




SN SR
LR NERIES

el SHNMBIA WS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHZAHZHI) 29,544 31,965 A2,421
= 8,863
= 20,681
101 @12A4H| 10,759 10,3% 364
= 3,228
[Ea 7,531
04 JIZtNZ22 XS 2+ 10,759 10,3% 364
OMEHZAL 2e2E 2
9,673,000& 14! 9,673
== 2,902
[Ea 6,771
01E 2 MHEE 1,086,000 14] 1,086
= 326
= 760
201 er2 3| 18,785 21,570 N2,785
= 5,635
o 13,150
01 At 2|l 18,785 21,570 N2,785
OMEHZEAN E2ZAMRE =458
17,525,0002% 14! 17,52
= 5,257
2 12,268
ONYHZEA E2EAIY DEH|
1,260,0002 %14 1,260
= 378
[Ea 882
EEAMSIZAHEHI) 52,620 51,290 1,330
< 36,834
[Ea 15,786
101 e124d| 16,143 15,514 629
< 11,300
s 4,843
M ORIMZZ2NSE S 16,143 16,514 629
O A2 It 212 Y 9,531,000 *14! 9,531
= 6,672
o 2,859
O oIy
6,612,000 * 14 6.612
== 4,628
o 1,984
201 er23 | 36,077 36,376 701
= 25,254
= 10,823
01 At2teltl 36,077 35,376 701
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